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50A(1;−1; 0)B(2; 1; 5)C(−1; 1; 2)

1ABC

𝐴𝐵⃗⃗⃗⃗  ⃗(1; 2; 5)𝐴𝐶⃗⃗⃗⃗  ⃗(−2; 2; 2) 

2(𝐴𝐵𝐶)

𝜂 (𝑎; b; c)(𝐴𝐵𝐶)𝐴𝐵⃗⃗⃗⃗  ⃗ .  𝜂 ⃗⃗⃗⃗ = 0  𝐴𝐶⃗⃗⃗⃗  ⃗ .  𝜂⃗⃗ = 0  

AB C

 (𝐴𝐵𝐶)  x + 2y − z + 1 = 0

3(P)(𝐴𝐶)C

𝐴𝐶⃗⃗⃗⃗  ⃗(−2; 2; 2)(P)(P)C

 −x + y + z − 4 = 0

4(∆)(ABC)(𝑃){
 x = t       
  y = 1       
 z = 3 + t

;    t ∈ ℝ  

- ℝ3{

 x + 2y − z + 1 = 0   
  x − y − z + 4 = 0       

 −2x + y + 3z − 1 = 0   

(ABC)(𝑃)(∆)(∆)

 −2x + y + 3z − 1 = 0(−9; 1;−6) 

𝐸(1; 1; 1)(ABC)(𝑃) 

    𝑑(𝐸; (𝑝)) =
|−𝑥𝐸+𝑦𝐸+𝑧𝐸−4|

√(−1)2+( 1)2+( 1)2
= √3                 𝑑(𝐸; (𝐴𝐵𝐶)) =

3

√6

1 (∆)



 

2 

(𝑝)(𝐴𝐵𝐶)

            𝑑2(𝐸; (∆)) =  𝑑2(𝐸; (𝑝)) +  𝑑2(𝐸; (𝑝)) 𝑑(𝐸; (∆)) =
3

√2 
 

04

1𝑓1z′ = −3iz − 3 + i3

Ω(0; 1)(−
π

2
)

𝑓1z′ = 𝑎z + b 𝑎 = −3𝑖b = −3 + i 

|𝑎| = |−3𝑖| .   𝑎𝑟𝑔(𝑎) = −
𝜋

2
 

              Ω      𝑧Ω 
 𝑏

1−𝑎
=i

13

2𝑓2(𝑃)𝑧′ =
√27−9𝑖

−√12+6𝑖
𝑧 − 5

(−
3

2
)Ω(−2; 0) 

𝑓2z′ = 𝑎z + b 𝑎 =
√27−9𝑖

−√12+6𝑖
𝑏 = −5

𝑎 = −
3

2
  Ω    𝑧Ω =

 𝑏

1−𝑎
=-2   

3𝑓3𝐴(𝑖)𝐵 (−𝑖
√3

2
) 𝐶 (

√3

4
+ 𝑖

1

4
)

𝑂

z′ = (−
√3

2
+ i

1

2
) z +

1

2
 

𝑓3z′ = 𝑎z + b 𝑎b𝑎 ≠ 0

𝑎b{
−

𝑖√3

2
= 𝑎(i) + b             

0 = 𝑎 (
√3

4
−

𝑖

4
) + b

𝑎 = (−
√3

2
+

𝑖

2
) b =

1

2

4𝑓4𝑂𝐷(3 − 𝑖√3)𝐸(6 + 𝑖2√3)

 z′ = 2(
1

2
+ i

√3

2
) z 

𝑓4z′ = 𝑎z 𝑎 =
𝑧𝐸

𝑍𝐷
=

6+𝑖2√3

3−𝑖√3
 

= 1 + 𝑖√3                 
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I-  (𝑢𝑛)  𝑢0 = 0n𝑢𝑛+1 = 𝑢𝑛 + 𝑒−𝑢𝑛 
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1(𝑢𝑛)λλ𝑒−𝜆 + λ = λ 

(𝑢𝑛)λλ :lim  𝑢𝑛+1= λ
x→+∞                  

و          
lim  (𝑢𝑛 +  𝑒−𝑢𝑛)=  λ  +  𝑒−𝜆

x→+∞                                                   
 

 λλ = λ + 𝑒−𝜆

e−λλ = λ +  𝑒−𝜆 = 0λ  (+∞)

(𝑢𝑛)(+∞)lim   𝑢𝑛= +∞ 
x→+∞                   

2 (𝑢𝑛)

 𝑛𝑢𝑛+1 − 𝑢𝑛 = 𝑒−𝑢𝑛 > 0

(𝑢𝑛)(+∞) 

         II-   (𝑣𝑛)n𝑣𝑛 = 𝑢𝑛+1 − 𝑢𝑛 

1 (𝑣𝑛)0

n 𝑣𝑛 = 𝑒−𝑢𝑛    

 lim   𝑢𝑛= +∞ 
x→+∞                  

2 (𝑣𝑛) 

n

 𝑣𝑛+1 − 𝑣𝑛 = 𝑒−𝑢𝑛+1 − 𝑒−𝑢𝑛 < 0    I-2

 

7   𝑓      𝑓(𝑥) = 2 − 𝑥(1 + 𝑒𝑥2−1)

1lim   𝑓(𝑥)=−∞
x→+∞                       

    ∞+=lim   𝑓(𝑥)      و        
x→−∞                            

 

2𝑥 𝑓(−𝑥) + 𝑓(𝑥) = 4 

 𝑓(−𝑥) + 𝑓(𝑥) = 2 + 𝑥(1 + 𝑒𝑥2−1) + 2 − 𝑥(1 + 𝑒𝑥2−1) = 4   
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3(𝐶𝑓) 

𝑥 𝑓(−𝑥) + 𝑓(𝑥) = 4 𝑓(2×0 − 𝑥) = 2×2 − 𝑓(𝑥)

𝑤(0,2)(𝐶𝑓) 

4 𝑓   𝑓 شتقاققابلة للا :ولدينا  𝑓′(𝑥) = −2 − (2𝑥2 + 1)𝑒𝑥2−1

𝑓

 

 

 

 

 

 

5    𝑓(2) = −2𝑒−3
 ;   𝑓(1) = 0 ;  𝑓(0) = 2 

6 𝑔(𝑥) = 2 + 𝑥(1 + 𝑒𝑥2−1)

(𝐶𝑔)(𝐶𝑓)

 𝑔(𝑥) =  𝑓(−𝑥)      𝑔(𝑥) + 𝑓(𝑥) = 4  

(𝐶𝑔)(𝐶𝑓) 𝑤(0,2)  

7(𝐶𝑔) 𝑔(𝑥) + 𝑓(𝑥) = 4 

 𝑔(𝑥) + 𝑔(−𝑥) = 4

 𝑤(0,2)(𝐶𝑔)

 

 

 

 

 

+∞                                     -∞ 𝑥 
- 𝑓′(𝑥) 

   ∞ +     
-∞                                         

𝑓(𝑥) 
 


